Complete the following calculations. Show your working in the grids. Remember when we x100, we are making the number 100X bigger. We are moving the number one place to the left.

3 X 100 =
	H
	T
	U

	

	
	

	

	
	



7 X 10 =
	H
	T
	U

	

	
	

	

	
	



8 X 100 =
	H
	T
	U

	

	
	

	

	
	



13 X 10 =
	Th
	H
	T
	U

	
	

	
	

	
	

	
	







6 X 10 =
	H
	T
	U

	

	
	

	

	
	



5 X 10 =
	H
	T
	U

	

	
	

	

	
	



0 X 100 =
	H
	T
	U

	

	
	

	

	
	



11 X 100 =
	H
	T
	U

	

	
	

	

	
	



15 X 10 =
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	H
	T
	U

	
	

	
	

	
	

	
	



